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No. of Quastions : 180
ol W dear 180

1
Time : 25 Hours Full Marks : 450

1
w3, g2 | yun : 450

Note: This paper consists of Objective Type Questions and is divided
intn!‘twswthn_p[lt;;]uunder:
8 ae-a9 wgfedn qr smafte & oy oy west (1@ V) #
Groma ¥, o P oy Al B -

(1) Bections I, I, I and IV are compulsory. In dddition, a candidate

is required to answer guestions on EITHER English Language
OR Hindi Language (Ssction V). i .
wl,u,mmwmﬁuﬁ!:mmemd*ﬂﬂﬁww
gy R Wt (wve V) % SRt & gex 83 ¥

(2) There are in all 180 questions. Atiempt as many questions as
you can. Each guestion carries 3 marks. One mark will be
deducted for each incorrect anawer. Zaro mark will be awarded
for each unattempted gquestion.
@laomtlmm-tmﬁmmaﬂ‘mﬁmm
3 % w'tlm-m'mﬁm“mmmlm
Faf 9v W A e 8

{3) Each question is followed by Four alternative answers (1), (2), {3}
and (4). Only one of these answers is correct. Select the correct

answer and record itpgtn:t the relevant question by darkening

the circle with Ball Peun in the Answer SHeet, as per the
¥ et (1), (2), %aﬂr (4}

d3at A e v B A 8§ ow & Twe T ¥ IWT H

ma&ﬁqmmﬁmﬂmmﬂmmﬂhm%nmﬁ

ﬁiﬂ@ﬂﬂﬁﬁﬂgﬂ{%ﬂ)ﬁﬂ.ﬁ!hmmmml

(4) 1f more than one alternative answers scem to be approximate to
the correct answer, choose the closest one.

ﬂmﬁmmmﬂﬂm:ﬁm.m&,ﬁﬁmﬂﬁ
FaT T '

3 P.T.O.
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01,

SRCTION -1
- WY -]
(Accountancy and Business Organisation) _
(Feriw od =ty daes)

The system of recording transactions bases on dual aspect concept is
called : :

(1) Double Account System (2) Single Account System
(3} Double Entry System (4) Single Entry System

Mgmawnwmﬁéqﬁ%%@%aﬁmﬁm
G

(1) B Grw gomeit (2) sHEd @Ar yonsd
(3) S R gomeh (4) IHEH JAET ToT
How many columns are there in a Journal ? N

{1) Thregq {2} ~ Four (3) Five T (4) Six
Aorrrenr & foery ey (@) & ¥ 2

(1) @ @2 TR 3 W B O -
No Journal entry is made for ... dunaniion

(1) Brokerage ks e 1 {2) Cash discount

(3) Trade discount L (4) Commission
AT B wRafE i T3 R 7€ Rrar s &
(1) omedt (2) = ge

(3) =g zgz | 4} FRIT

Double Entry system's ru]c ’Dchit the receiver and credit the giver' is
applicable to :

(1) Personal Ac-::ﬂunt- g, (2) Real Account
(3} Nominal Account (4) Joint Account
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gg_rﬂ%%ﬁrmﬁﬁﬂﬂﬁm ‘O AT @ A uF & g @ 9T Arf

(1) =™ g 3 R (2) s Gl R

(3) HEE @l B R J(a) dgET @ & R
. Bad Debts Account is related to :

(1) Personal Account (2) Real Account

{3) Nominal Account (4] Suspense Account

9 WO @il H R &

(1) =fawm| aer (2) arfas @
(3} FEETE W (4} Ig= @rar

. Goodwill is :
{1) Floating Asset (2) Wasting Asset
(3) Fictitious Asset {4) Intangible Asset
e 2
(1) oSTeqrRy gafy (2) SmemETY gaRy
(3) SEmaEr HuRT (4) o daf

. Which equation is noet correct out of the following equations ?

(1) 'Capital = Assets — Liabiliies

(2) Assets = Liabilitics + Capital

(3} Liabilities = Assets — Capital

(4} Assets = Liabilities — Capital

Prefatiaa @diecelt # & F-ar giweT a8 az#%?

(1) it - grafedt - fE (2) waferEt = afaa +« 40
() TR - TR - (4) weoRdt - e - PR

5 PO,
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08. COutstanding salary is ................... for trade.
(1} Income (2) Expenses (3) Liabilities (4) Assets

do9 A e O A sl ... ¥

(1) <Tmg (2) =g (3) =faE (4) e
70% Balance of the Cash Bookis ........cvvvvenee.
. {1} Debit and credit (2} Debit or credit

(3} Debit (4) Credit

| dws wd asr@s‘nw ........................ e 2|
(1) A oF s (2) H 9T SIRY
(3) - (4) ST

10, Trail Balance is :

(1) An account ' (2] A statement
(3) An information (4 Summary
o o 1 T | 4 .

(1) T @ (2) 7% fRa
(3} TH gaHr , (4) = G

11. Under the straight line method of charging depreciation, the amount
of depreciation ..................eee.s

(1) Remains constant every year (2) Decreases every year
(3] Increases every year {4) Is not certain
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BH ATES & GTE @ TRl & o ed B aht i

(1) sfed gure e 2 (2) afy g gzt 2
(3) ufeed =oh ® (4) S Tafyaa =df B
Expenditqre incurreed on extension to an existing property is treated
as8........0... i ) '
(1) Revenue loss (2) Capital prefit '
{3) Revenue expenditure (4} Capital expenditure
et frermm weafea & fareme o B T =g L BT ¥
{1) ™Ta 8 (2) Tofra e
(3} ¥ =G (4) Sofhra ==
13. One who draws the bill is called ..................
(1) Debtor " (2) Drawee (3) Payee (4) Drawer
MR e IR Em AT 8. |
(1) ¥F&K (2} @R sATETAl
(3) STl (4) TE® '
@ Registration of Cmberat_ive Societies 1s : o
i1] Voluntary (2) Compulsory
(3) Harmful '(4). Desirable

gewrll afaferd @ dofgs B -
{1} ofeH (2) ofrad  (3) efFFERRE (4) aleE

18. If payment is made before average due date, then debtor is allowed :

(1} Discount” - : {2} Rebate

- [3) Brokerage (4) Commission
qﬁ%mgﬁﬁﬁﬁ%gﬁ"ﬁ#mm%,ﬁ&wﬁh
1 & (2) A (3) =ewlr. . (4) PN

¥ " PT.0.
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16. Business provides incentive to :

17.

18.

Tax Evasion
Efficiency

(1}
(3)

#HFqrq 9on 2497 3
(1) =7 =y
[3) eIl

Commerce .....................
(1] is a part of business

(3) is a part of industry

-----------------

{1)
(3) TEVT wmT ST 7

)

Adulternation in products
Price rise

(2)
(4)

Jqrel 7 fomiye
T gha

(2)
(4)

15 a part of trade

(2}
(4)

ts a part of promotion

I &H HT 2
gad= @ o B

(2)

A promoter af business enterprise may not be :

(1)
(3)

a stock-exchange
a firm

(2)
(4)

a company
an individual

Th NS IGHT H g9 787 & wwar § o

U wRe-ferafor
e

(1)
(3)

small size _
{3) limited liabilities

wp gt
% =AM

(2)
(4)

The greatest handicap of a sole traderis ......... S—

(2} limited capital
(4) unlimited liabilities

BraT 37T
difa =ifay

{1)
{3)

(2} T §oh
(4) rdiftg =i
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20. Partnership is formed as a resultof ........
(1} License from Qovernment
(2) An agteement among individuals
* {3) A Central Legislation |
{4) A State Legislation

AR B WA . B BT I R
(1) @R @ SEa=S (2) =afmat & & i
(3) Fg e (4) wehyg free
21. Registration of partnership firmis .....................,
(1) Essential : (2) lllegal
(3) Voluntary (4) - Compulsory
aRErd s o G HE L ¥
(1) HEvas . | 2 -wrph
(3) ufess | @) AFEE

23. The liability of shareholders can be known :
{1} From Auditor's Report
(2) From Firm Prospectus
{3) From Article of Association
{4) From Memorandum of Association

W%mﬁaaﬁwm?:

(1) FgEor gfyEsa @ (2) wH RO q
(3) Ty o=tEN 4 (4) de ffa |
23. Equity shareholders are .................... i

{1} Owners ofthe company (2) -
(3)  Cuntpmers.of the company  (4) -
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24,

25,

26.

27.

qoe Jeard 8 ... e 1 |

(1) F=RE@&H (2] FENH TER

(3) =it & urEE 4) . #AR B ATER

Which businéss nf-gaﬁiz.aticsﬁ has got its s'cpcrate lcgaj'tnﬂqr ?

(1] Joint venture (2} Sole Treding

(3) Fim . -4 (4) Jointétock company

Rro s e @ @od s e sra &7

(1) Hg& g (2) @R @O

3 (4) H‘gaa iﬁﬁ iE“iFﬂ

The minimum number of numbers in a public company must- be :

%Wmﬂmﬁwmmmﬁm
) 2 . @ 5 3) 7 14) 50

Preference sharcholders haw: nurmal!y ............ rrveaes

(1} Equal voting Rights (2) No vutmg ﬁlghta
(3) Limited voting Rights | {4) Full voting Rights
yetferesre Sisrafit &Y smrgaar ...

(1) N 39 & =T o ey aar X |

(2) 5o A &7 iRt o @7 B

(3} o w7 37 T afermme &ar 7
(4) g qEfEERT e B

The following Accounting standard is applied for provading depreciation :

FE A & Rl Py Sraie gam @ den 2
(1) AS-3 (2) AS-4 (3) AS-5 (4) AS-6

10
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38. The nsk mvulvedh&q&ﬁtytharem s
(1) Maximum (2) hlln'ilnum {3} Nm'mal {4) None

(1) ftare {mw (3) wrHr H} 5o T

29. Which one of the- lbllmllingii not a fnrm of business organization?

(1} Bole mpﬁ«w-hip - (3) Partnership

{3) Charitabie. 'l"rﬁlt ."  [4) Joint stock-company

maﬂmmmmwm aﬂt‘f‘

(1} wwam - (2 L, S

(3) unww: @ n‘gmmm
30, lnlnduammuﬂﬁpmmugovemndhy i

(1) Partumhipm . {2 Partnership Act, 1056

(3) Partnership Act, 2 (4] Partnetship Act, 1932

mamwmmmmamu
{1) el aflrew, (1920 - (2) war® sfPwm, 1056
3 mmlm (4) TR afufyam, 1932
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EECTIGN i
. oy - II r
(Economics and Money Banking)
(srdwrer wd Hmr AR

¢

31. 'Economics is the science of scarcity’. Who gave this definition ?

(1) Mumrshall - - ¥ & {2) Robbins
(3) J.N. Kejnies = {4) Cannon .
‘aﬁwm(tﬁqﬂm)wfaﬁm%lmqﬁwﬁmﬁﬁ?
(1) =& S (21 i
(3) Sto THo P _- . (4) HIT
32. Who is the author of book éntitled "Principles of Economics” ?
(1} Marshall (2) J.B. Say
(3} Adam Smlth 3 ’ (4) Flguu
"Principles of Economics” gﬁ"l‘iﬁ AW A &7
(1) wefeT (2) Jodflo & (3} A REw (4) 9
@Which bank first introduced Mobile ATM in India :
(1) LgICL .. (2} LB
(3) HDFC (4] Axis Bank
1A & R ¥F A wEnem Aasa todiowde H ary fr
(1) LC.LC.L {2) ILD.B.L
{3) HDFC ; (4] Axis Bank

34. Money Market is regulated by :

{1] Financial Institution {2} Indian Commercial Banks
{3] Reserve Bank of India (4) Foreign Banks

12
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gﬁrwmﬁwﬁhﬂ%% -
(1) B gem “ 20 Y ) umedig a8
(3] M%mmiﬂ  f4) Rrsh ¥F=w

IE Who has propounded I‘thuer on:nocpt of "Rent of Ability" :
(1) David Ricardo s (2} Von:Wieser
{3) Mrs. John Robinsop {4} Alfred Marshall -
“ArgEr AT Y -SEanem B ufearider o ¥
(1) 3fes femeEt (2}, <fF@} GrROTX A
(3) =l St Tfaes (4) b Hrefa A

36. Which of the following is not correctly matghed :
(1) EXIM Bank - Finance for Export and Impart
(2} R.B.I. - Banker's Bank
(3) LD.B.L - Industrial Finance
“4) F.CI- Financfal aid to commerciat institution -

ﬁmﬁifaa ﬂﬁﬂﬂr@gﬁﬁﬁﬂﬁ%

(1) Prakr s #® - smar gt 3g faw

(2) Rod 8w olfw 3fear - et o A

(3 ﬂmﬂueﬂﬁﬁﬁﬁl?ﬁmaﬁﬁ shenfies faw
[ﬂﬂmﬁuwﬁm mﬁhﬁfm&i’faﬁ’rﬁﬁﬂam

9 According to J.B.SAy, ‘‘Rule of Three' applied to :

{1) Progressiveflax, / ] (2) Proportional Tax
(3) Regressive Tax [4] Degressive Tax
HAo dlo 9.5 “‘Rule o[Threc” (fﬂﬂ' 1t'i?!' ﬁ"l’qTT) FiT’:._[_ B ¥
[¢] m :“gm 2) Srpl e
m xm )

13
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38, Total utility is .......coooeieeee when margingl utllhy is zero.

(1} Minimum. [:]_ Mu:imurn 3 nqm . {4} Zero
T dr ITA g o g, ﬁrgnm ............ Bt &)

(1) = (2) ftwm (3) m @) =

39. Which one of the foilowing is the be:t uuru of exchange ?

(1) Goods - (2) - Chogue

{(3) Bill receivable o (4 me]r
ﬁwmﬁm-mmwﬂﬁmmt?

(1) ¥ 2) W6 {3} mm (4) T

/4;9 'Money is what money does'. Who gave thil d:ﬁuinun ?
{1) PRisher SRR Matsbhall
(3} Hartley Withers (4) Secligman
"wnhﬁg&rmﬂflﬁ?lmmmﬁ?
(1) e 2) 'rmfﬁ g ur!!& Rt - (4) SReE

41, The mnu:pt of Monnp-our was mvemed by

(1 Marshall .2 AR Lu-ru:r
(3) Chamberlin '- {4] Mra. Jnhn Rabinson
AT ST AR mﬁm N amereen W SR e e 7
(1) e | (2) o WMo WY
(3) Seaddr (4) AR WM TRE=
42. For listing of securitiea application is made to............
(1) Stock Exchmp ' (2) Central Government
(3 State Governapent _ {4} Company Registrar

14
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(1) & Rafr - . - 12) B ELE
B T EER - @) ey

. 43. Solution of unemployment pmbicm of India lies in
{1) Goveljnlmcnt industries (2] Cottage industries
(3) Smail industries . ; (4} Large industries
T W AHrE A e @ v L B B
(1) & W1 e - L (2) HARFEE i
(3) g -IWT . .- (4) a3 FaT

44. "Principle of Mammum Sacm] Advantage’ is ooncerned with which

(1) Profit o (2) Rent _
[(3) Interest _. {4} Pubhc Fmancg

mmmﬂﬂm PR a9 § qafime 3 7
:1}?5111% (2) Ervrr-'fﬂ (3]54131% [4) o @

9 The first stock exchange in India was established in ............. :
o woqn =g R W e gt ot |
£1} 1857 (2) 187% (3} 1887 (4)” 1948
46. Law of substitutionisyglso known as ...............

{1) Law of Diminishing Utility
(2) Law of Equi-Marginal Utility
(3) of Muighiial Productivity

15
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(4) W = s
47. Which of the following is the contingent function of money ?
{1) Basis of Credit (2) Medium of Exchange
(3) Measure of Value (4) Store of Value
Prefofgs # § Brr-a1 gm0 @ areeTs F ¥ 7
(1) 6/ ¥ AR (2) R @ qJem
(3) HT * WUE (4) T T €=
0 Price elasticity of giffin goods is ........ocveeennenn. :
{1} Positive (2] Negative
(3 Zero (4} None of these
Prite qerdt & Rl Hme A S W Breft ¥
(1) . E=TeTH (2) WWEEH  (3) TH (4) =g =
49, During which time-period all the factors of production tnay be changed ?
{1) Short run (2) Very short run
i3y Long run (4) Very long run
aE BF-a1 99 & Brad Sura § af e i i B o wd
g7
(1} STehTA (2) 3T ATTRI
(3) dideEret | (4) tfy defeprer

16
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51.

52.

14U/101/ 19(1i)

In which economy decision is taken on the basis of price mechanism ?
{1} Socialist . (2) Capitalist
(3] Mixed economy (4) Gandhian economy

fore s1deae ¥ Pmw a9 B IR W A R TR 2 2

(1) FHEE (2) Gofrardt

(3 TfEm srdsaen (4) TiTdraTy srefemeren

Central Bank of India is .............. L
{1} State Bank of India (2) Central Bank of India

(3] Reserve Bank of India (4) Panjab National Bank

HIA B HET Fb ... i

(1) we ¥FF ol fEar (2) Hww ¥5 offg gfeg

(3) weig fod ¥ (4) GomE A &

The impact of ‘Green Revolution’ was felt most in the case of production
efsnnnnneany

{li Rice (2) Pulses (3) Oil-seeds  (4) Wheat
‘wE Wiy B SR W . IURT & e H a3r)
(1) =S (2) oA (3) OEEH 4y TE

The standard of living in a country is represented by its ...............
{1) Per capita income (2} Poverty rauc

{3) Unemployment : (4} National income

REelt 29y 7 AT TR OSEE z ufafftree ww ¥
(1) wRy =fry oy (2) T SrqoE

(3) Ao (4) T o

) K 4 ' P.T.O.
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54,

57,

The first estimate of nation income in [ndia is made by ...... oneaes

(1) V.K.R.V. Rao (2) Dadabhai Naoroj

(3) J.K. Mehta [&} Gorakh Nath Singh

e U o @ FEH ST s ST ST A
a1 | .

(1) FoBoNdTodo TH (2) ZTETAR :h—aan_

(3) RAoFo AEAT | (4} Mrm A fHe

Who among the following is the Chairman of the Planning Commission ?
(1} President (2) Prime Minister

(3} Union Minister of Planning (4) Union Minister of Finance
Frer % @ B9 Ao oA & ot B ¥ 7

(1) egafy (2) wErErHEI

(3) I GroAT =53t (4) g R o=
Swarnajayanti Gram Swarozgar Yozana (SGSY) was firat launched in
Indiain ............. ‘

A F wolora=i o\ =R AT SEATe aY |
wree fpan

(1) 1975 (2) 1984 (3) 1997 {4) 1999
Monetary policy refers to the policy of .........coconee.

{1} Government (2) Commercial Banks

{3] Central Bank (4) Foreign Bank

18
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(1) &= (2) oftrey <Rt
(3) H=Erg I= (4) fRsh §=

The general budget is presented to the Pasliament on ..................
(1} The last day of February (2) 15th March

(3) The last day of March (4) 1st April

dar g qore ... W wEga Brar ST '

(1) sl 3 sfam R (2) 154t mI=f

(3} a9t & sifeem Ay (4) uEent b
$9. Abid Hussain Committee recommended on ...............°

{1) Expdrt policy (2) Small scale Industries

{3) Infrastructure (4) Financial sector reforms

e g wmlRY L. o SrgeEn BEm

(1) Frafa ifa (2) &g I

(3) GT= (4) facfa &= & gt
60. Legally SEBI was established in ................ _

dutres w9 F @@t S wwm L # g2 i)

(1) 1956 2) 1992 (3} 1996 3) 2004

19 P.TO.



14U/101/19{iii)

61.

62.

63.

SECTION - 1II
o E - HI
Mathematics
(orfore)

Which one of the [ollowing numbers can replace in both the question
marks in the given fraction?

& ¥ fer § PrefiRaa geett # 8§ S-G9 [ 99T
ot (7) B orTe TEl o7 et B ?

? 16

47
(1) 24 T {2) 48 (3) S6 (4) 32

Two amourits have a ratio 9 : 7. If the first one is worth 27 then other is :

& R 9:7% ogaw A ¥oufx T & queh 278 & @O A

(1) 21 2) 9 (3) 7 4) 63

In how many years the simple interest of any principal at the rate of
2

4% will be 3 its principal ?

{1} 5 Years (2) 8 Years

{3) 9Years (4) 10 Years

Rt ad & Rl e w0 st 4 giera & e @ m%a"r
s ?
(1} 6ad 2) 8ad (3) 9ad (4) load

20
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In an examination 15% of the students failed while 1275 students
passed. The number of students appearing in the examination is :

it aliem 3 159 s oTgiot gu Sraf 1275 B St g ) when
(1) 1,000 (2) 2,000 (3 .1,500 4) 2,500

940w much water must be added to 30 litres of alcohol to make solution

e

a7.

of 40% strength ? _

(1} 15 Litres (2} 25 Litres (3) 335 Litres (4) 45 Litres
30 e e & fpa-r ol Mo s @B 9 40 gfee s
WA S ?

(1y 15&feX (2) 257 (3) 35T {4) asdfex

The average age of 30 students of a class is 15 years. Average age
remains unaltered even if 3 new students are admitted. The total age
of 3 new students is :

(1} 15Years (2) 30Years (3) 45Years (4) 60 Years

Rrelt = & 30 et @t omm & olrwd 15ad B 3 aft meEt B A
@ 5% W few oy smafaffa ved B WY 3 Bt ) 9w o g
.3

{1) 1594 (2) 30ad (3) 4539 (4) 60 a9

At what rate of simple interest will a sum double itself in 8 years ?

ey S A BT a7 @ S ol gt & gt & ondel ?
(1) 9% 20 12% (3) 12.5% . . ¢ 12.25%

21 P.R0O.
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68. Find the value of 5.6435 x 46.785 + 26.54 to two decimal places.

69.

70.

71.

5.6435 = 46,785 + 26.54 H AT &1 TIHA A T6 F¥epTet |
(1) 9.95 (2) ~ 9.38 (3] 8.98 (4) 10.01

Express the mutual relation of the following in the form of ratio :

1 Quintal and 1 gram

Prafafgs & gRea® @y & o B w9 7 o9 &
1 ferdew od 1 OH

(1] 10000: 1 ; (2). 1:1

(3) 10001 (4) 100000 : 1

A person buys article of Rs. 16,000 and sells the same for Rs. 25,000
less 20% discount; find his gain per cent.

o AR TF a%g & 16,000 B9 q¥ THEHT I@ 25,000 69% TEE
20 sfyea w2 X Ao B, A T e s
(1) 20% (2) 24% (3) 25% 4} 30%

What should come in place of the question mark ( ? ) in the foliowing

series ¢ .

Fr=ifsa <faen 7 999g9% (?) 3 @ 9¢ #7491 & =R ?
S, 10, 20, 40 ( ?) 160 .
(1) 80 2) 100 (3) 120 - (4) 320

a2
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723. Find the value of 63.42 x 7.639

63.42 x 7.639 B W 3T R

(1} 384.4 (2) 484.4 {3) '387.4 {4) 487.4
236.8
Find the value of - JSS?G:W
236.8

J539.6x V6104 T FTT W FHifr
(1) 02126  {2) 03126 (3) 04126 (4) 0.4216

such matrix is :
(1} Zero Matrix (2) Triangular Matrix
(3) Diagonal Matrix (4) Transpose Matrix

mﬁw%g@w%mﬁmﬁwmﬁwqw
B-a aw stegE wEemR o
(1} = ongE (2) Pyt stege
(3 famet sr=ge (4) wiad am=gs
75. Ifz-?x”+3y’thcnmcvalueufﬁatx-land}r-ais:
ﬂﬁz-ﬂx’+3y’ﬁx-lﬂmy=3%ﬁﬂ'&§%EE[“’FIE:
(1) 4 2) 5 (3) 2 4 3
76. Selling Price is equal to ;
{1} Purchase Price + Loss % {(2) Purchase Price + Loas
(3] Pusshase Pricc + Profit %  (4) Purchase Price + Profit

0 If all elements except the main diagonal of a square matrix are zerg,

23 I- PTS.
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78.

81.

Find the value of 99999 + 99 + 9.

99999 + 99 + 9 &I TG T B |
() 121 2y oar (3) 221 (4) 112

What should come in place of question mark ( ? ) in the following
series 7

Fepfaftae Aol & o g faw (7 ) & T 9 E A 9w 7
1 3 9 21 81 (?) 729
(1) 243 (2) 324 (3) 686 @) 162

Find the value of : (81)* + {9)°
(B1)* + (9)° TV TR FIT HL
(1) 9 (2) 81 (3) 729 (4) 6561

What should come in place of question mark { ? ) in the following
proportion ?

Pret FmTa # geeares fE (7)) & s 9 g e At 7
4 27 ? 21 ;
(1) 12 (2) 15 (3) 16 (4} 18

Find the value of : (5)* x (3)* + (5

{5)) x (32 + (59 T AN #A BT | a
(1) 40 {2) 45 (3} 50 (4] 55

24
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An agent gets 3% general commission and _2%% del crederc
commission. What is his total remurneration on.total sales of ¥ 15,000
if sales of ¢ 10,000 is credit sales 7

2
T TR 3% G ST Zi%qﬂaﬁu FiteTT " @ ¥ T 15,000

%@ﬁquﬁmmt,uﬁ!-mmﬂaﬁﬁaﬁwﬁﬂ!?
(1) 250 {2 300 (3) 450 (4) 70O

Find out capital required to earn a monthly interest of T 600 at 6%

p.a. at simple interest ?

5nﬁmmﬁmmaﬁﬂﬁﬁoumﬂnﬁmﬁaﬁﬁaaﬂ%$m
fpertt GO W ATEFAHAT z?

{1) 90,000 (2) % 1,00,000

3) % 1,20,000 (4) ¥ 1,50,000

A broker's income T 1,500 remains unchanged, though his brokeragy

1 .
is decreased from 3 % to Z—i %. Find the percentage increase in broker &

trade.

mﬁﬁaﬁiﬂa%%w%%mmﬁmﬁmaﬁmﬁﬁ

7 I,SDUﬁTﬁ%IW%WﬁﬁaﬁnﬁWﬁﬁm

C o ic Ll
(1) 20% (2) 22% (3 25% (4) 30%

25 P.T.O.
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(=

B6.

87.

. An article was sold at 5% profit. If it is sold at 5% loss, then we get
T 15 Jess. Find the cost price of the article.

U T 5% TN X AR 1) ARk @ 5% @iy g F= T DAy S
T IS %9 B ) 6 a%g 1 arr ged garsd |
(1) T100 2} T 120 (3 T 130 (4] ¥ 150

A pen is sold for ¥ 11 'and makes the same percentage of profit for
which it was purchased. Find its purchase price.

ﬁ%#tl]ﬂhw%mmwaﬁ%iﬁnﬁmﬁmﬁm
%ﬁﬂﬁﬂaﬁmﬁmwmummgﬁqmaﬁﬁﬂm

() T 10 2) T 11 3) T 12 4 T 9

Total number of elements in a determinant of third order is :

AR B9 A ¥ g sreudt o doar A k-

{1} 3 (2) 6 (3) 9 (4) 12

16 men or 28 boys can do a work in 40 days. In how many days wiil
24 men and 14 boys complete the same work ?

89,

{1} 10 days (2) 15days (3) 20 days {4) 25 days

16@1@211255!3%%%&2&111@40&:?!&@%%%24
mﬁaﬂ'{mmﬁaﬁiﬁmaﬁﬁmﬁﬁ:ﬁﬁ{nmﬁ?

(1) 10 fas (2) 15RF (3) 20 fes (4) 25 f&s

Which one of the following numbers is divisible by 11 ?

ﬁ%ﬁﬂﬁaﬁq—mmuﬁﬁﬂﬁaa&mmﬁﬁﬂ
(1] 1242523 (2) 1254523
(3) 1542523 (4) 1524523

26
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90. A person takes a trip which entails travelling S00 Km. by train at 80
Km. per hour, 300 Km. by taxi at 25 Km. per hour dnd 400 Km. by
aeroplane at 350 Km. per hour. What is the average speed for the
entire journey ? _ '

(1) ©61.88 Km. per hour (2) 62.88 Km. per hour

(3) 60.88 Km. per hour (4) 63.88 Km. per hour

ue =T 500 fRcivdeT 9 g (el | 80 Pheirley ofr dar
Tt A, 300 R @Y g 2t § 25 FResrET gfa 921 a9t 400
RpeiriieT o aen wad srerer 9 350 fpdndieT ofe ge & oy | QU
F & | wY© e B Rl Sudt oftma ofay = 3 7

(1) 61.88 Prdmiiex ofy gar  (2) 62.88 REeET 9fy ger

(3) 60.88 FR@PfeT gia g21 (4) 63.88 rardler wfg g2

27 P.T.O.
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SECTION - IV
HE - IV
(G.K. and Current Affairs)
(e W wd A ged)

91. The name of the Chairman of 13th Finance Commission of India is

..............

(1) Dr. C. Rangarajan (2) Dr. Vijay L. Kelkar

(3) Shri K.C. Pant (4) Dr. P.V. Rajamannar
A A o #1347 e & AW ... reres Zl
(1) sTo Hlo TR (2) ®To faera udo BT
(3) i #o Ho T 4) =To Jlo Hflo TAFAR
Which ene of the following is not mentioned in the Constitution of
India ?
(1) Planning Commission {2} Finance Commmission .
{3] inter-State Council {4} Election Commisgion
s o & fF8 s @ dfiae & =3 o s mar 2 7
(1) AT (2) R smm
(3) =g uftug (4) gAE mEnT ,
93. Where the 29th Olympic was held ?
(1) NewYork (2) Peris (3) London 4) 1Ht.‘:ijing
S=itedl sfiafas wel e gon ar ?
(1) g 2y uR= (3) w=A (4): ST
e ) 1.5
94. Who started the Bhoodan Movement ? F
{1) Jayaprakash Narayan (2) J.B. Kripalani o
(3] Acharya Vinoba Bhave (4) Dr. Ram Manchar Lohiya

28
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YT HrReT BpaR e e ?

(1) SR Aoy (2) Sto o FHuar

(3) = e W (4) STe WH HAET AfEdr
@ Uranium mines in India are located in -

{1) Alwayi (2) Jadhuguda

(3} Khetri (4) Singhbhum

A H# TN @ aem st ¥
(1) ot & (2) wggeT A (3) @ A (4} FHevH #

96. Kandla port is located in which State ?
{1] Goa (2) Karnataka (3) Orissa (4) Gujarat

HUSAT T=HE g g # Reag & 7

1) TET (2) HAlES (3) IEEr (4} T
97. Which State in India is the smallest in arca ?
(1) Goa (2) Sikkim (3) Nagaland (4] Tnpura
AR AR B BA-T AT TG BleT § ?
(1} ar 2) s (3) Armes @) Brga
98.] Buddha died during the reign of :
«" (1} Udayan (2) Bimbisar
{3} Ajatshatru (4) Jarasandha
GE B TG cceveernnns DT a7

(1), R ) fREfEE ((3) w - f4) IRTEY

29 PT.O.
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99, Tulsidas was a contemporaryof ................. cererees
{l} Babar (¥} Akbar
(3) Jahangir (4) Shahjehan
geedtara B "@Hee L —
(1) U= (2) oY (3) TEMT | (4) , SUETE
Numbcr of bones in new born baby is ................ 4
T R Eme d sgfeal e & ?
(1) 208 (2) 206 (3) 200 (4) 270
101. Water freezes at .................... )
(1} 100°C  {2) 10°C 3) 0°C (4) 40°C
T ¥ IAHAT 8 |
(1) 100 f=H dfa= (2) 10t d@feas
(3) o fesh dfede (4) 40 2t dfeds
@Green vegetables are rich in ................. !
(1) Vitamins (2) Minirals |
{3) Carbohydrates (4) Proteins
st et & srfers e ¥

T Refm 2w (3) =dEERe @) B

Who is the President of Intérnational Olympic Committel ?

(1) Famine Diack (2) Salil Shetty

(3] Jacgques Rogge (4) Helen Clark !
U alwfgs afufy =1 oremey @ 2 7

{1} BEEST BS (2) "ol e

Q) e In (4) T o

30
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104.Ripening harmone is ;

(1) Gibberillin (2) Morphactin
(3) Ethylene (4) LB.A.

B GEM ¥ 98EE EHHIT &

(1) Frafdfer (2) WFRRS
(3) TR (4) S{odoTo

105. What types of device is a computer printer ? .
{1} Storage (2) Software (3} Input {4} Output

u g Y ReE g @ IutT & 7

(1) TR (2) WREAET (3) FAYE 4j STIeYT
n was Gold Medal winner of Lawn Tennis sinéle i 16th Asian
Game, 2010 7?7 )
(1} Somdeo Burman (2) Sanam Singh
(3) Mahesh Bhupatti (4) Liander Peys
163 wiard &, 2010 % 919 2w (wwa) & @t gssw RRgA S 2
(1) ¥€rRg o699 : (2) A fHe
(3 wew wyula (4) +=T 949
- 107.The first ICC Twenty -20 (T-20) world cup cricket held in ..........
(1) India (2) West Indies
(3) South Africa ) (4) Sri Lanka
UGy Ta=1-20 fagm Rede 9 FE gam oy ¢
1y wka# (2) ¥ & A
{8 S Snhrr (4) Wb R

31 BY.0.
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n which of the following states was the Panchayati Raj first introduced ?
(

1} Gujarat {2) Rajasthan

(3} Bihar {4} Kerala

Fr=fafias & o fea o A @99 g doEdl U1 WFf &9 ¢
(1} 71O {20 A (3) famre (4} FHCA

@' hich country has the biggest constitution ?
(1) U.S.A. (2) France {3} Canada (4} India

fope 291 1 dferaTT wAE qE B 7
(1) g T Iafven (2)
(3) FHATET 4 WS

111. The Tehn Dam is built on which river ?

(1) Ganga {2) Yamuna (3) Bhagirathi (4) Sutlej

el A B T g R ?

(1} ¥ (2} I (3) wriREd (4) ¥deT

dia is the largest producer as well as consumerof ................

(1) Pulses (2] Millets (3) Maize (4] Wheat
O e N WY GST IO OF IUHEET X |

(1} =@ (2) = (3) =T (4} &
113. Who is known as a 'Master Blaster' ?

(1) Birendra Sahawag (2] Sunil Gavaskar

(3} M.5. Dhoni (4) Sachin Tendulkar
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ey FET WTET QW aRn & 7
(1) R HEAT o (2) Grivr WEERl
@) THoTH oAl | (4) Hﬂmagaw

. 114. How many rings are there in thc Olympic flag ?

afrafa® ww o fprd wed (Fer) 2 & ?
(1) 3 (20 S (3) 6 4 7

118. Which State is the leading producer of Soyabeen in India ?

{1} Punjab (2) Madhya Pradesh
(3) Kerala B {4) Maharashtra
ﬂﬁﬂﬂﬂﬁaﬂmmmeﬁm-m%?

(1) G 2): mn sﬁm (3} W (4) HETUS
116. Who wrote the book "My life’ ?

(1} Z.A. Bhutto (2) V.P. Singh

{3) Bill Clinton . {4y Mark Tully

ok s gwrs feeR Rt ?

(1) FAsoto LA (2) #todte fHe

{3] e faRrest (4) W Teel
117.'Dada Saheb Falke' award was first given to ¢

{1) Devika Rani Roerich (2) Mrinal Sen

(3) Prithvi Raj Kapoor (4) Ynah Chopra

e TN G JEERR FaTaH g P @@ ?

(1y s o oty (2) qOWE HH

(3) Tﬂj'{m W 4y 3N

33
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118.The drug "hashish' is produced from the flowers of the tree of :

(1) Neem (2) Hemp (3) Rose (4) Tulsi
wuiter zar =7 & & fng U9 @ e @ A 9y o B
() v (2 agew (@) T 4) g
119. White coal is .. .............. o
(1) Uranium | @) Teet
(3) Hydroelectricity (4) Daimoénd
Gﬁ:‘dﬁqm ................... %I R T 75 TR
(1) TFam 2 W
(3) sEEEAEAfES (4) #ra
120, Who built the Khajuraho temples ?
(1) Chandel (2) Chola

{3) Pallavi (4) Rashtrakute

ST F ART RS aamr o7 ? :
(1) == (2) == - (3 T 4 UsgE

34
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(English Language)

(stioht )

14U/ 101/ 19(1i1)

[For the Candidate opting for I;uglish Language]
[0t sy g7 gt AwfiT & R )

Directions : (Question Nos. 121-124) Select the word nearest in
meaning to the given italic word.

121. Complacent

(1) dependent
{3) arrogant
123, Exposttion
(4} exposure
. [3) obligation
128. Beneficent
7 (1) rude
(3) kind
124. Corporeal
. {1) physical
(3) mental

(2
{4}

(2)
(4)

2)
(4)

2)
4

3s .

satisfied

indifferent

clarity

explanation

confident
thoughtful

corporate
racial

#7.0.
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Directions : (Question Nos. 125 - = 128) In each of the given sentences,
select the word which is opposite in meaning to the underlined word.

125. My broll;her is diligent as well as intelligent.
(1} Lazy : - (2) sharp
(3} cheerful ; (4) sad

126.The culprit confessed her guilt before the police.
{11 accepted (2) admitted
{3) denied (4) refused

127.The sudden contraction of the bladder surprised all the players.
(1) manufacture (2) expansion
(3} {fulfilment {4) repair

128.The judge was yulnerable both emotionally and physically.
{1) gullible - ; (2) .credulous
(3) fickle - (4} strong

Directions : (Question Nos. 129 - 132) Choose the correct preposition
to fill in the blanks, :

129.He was born .......... poOOr parents.

(1) with (2) at (3) of 4) from
130.You must atone ................ YOur sin. i

(1} for {2) from (3) with {4) at
131. He is conspicuous ..,............. absence.

{1} with (2) for (3) to {4) by
132.Your plan is open .............. objection.

(1) for {2} to . (3] from {4} by

36
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Directions : ( Question Nos. 133 - 136) Fill in the blanks with the

correct form of the verd,
13301 v you, | would win the lst prize in singing.
(1] was (2) were
i3] am (4) had been
134, Had she met me earlier, I ................ her the secret of success in life.
(1} would tell (2} will have told
(3) would have told (4) had told
" 138.3 ............... my work before she comes.
{1) wall finish (2) shall finish 1,
{3} would finish (4)  will have finished
136.1'll stay here until you ............oooonineee -
(11  will return (2) return
{3) will have returned (4) shall have returned

Directions : { Question Nos. 137 - 140 J Select the word which has
béen wrongly speit.

137.{1) psychology (2) begining

{3) allotted (4) recommend
138.(1) dependance (2)° attendance
" (3] correspondence (4} riddance
139.{1) pneumonia -{2}_: measles

(3) diarrhoea (4) maleria

: .5M§msia fay

37 | P,T.O.
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- - Directions : { Question Nos. 141 - 144 ) Select the parts of speech
of the underlined words in the given sentences.

141, Either solution is true.
(1) noun (2) adverb
(3] adjective ~ (4) pronoun

142.The player kicked the ball very hard.
{1) transitive verb (2) intransitive verb
(3) auxiliary verb (4) modal verb

143. He will live here till his retirement.
(1] adjective {(2) noun
(3) adverb (4} verb

144.5he reached here yesterday, _
(1) adverb . (2) adjective
(3) noun (4) determiner

Directions : { Question No. 145 and 146 ) Change the given sentences
into the passive voice. i

145. Pecple grow rice in ponds.
{1) Ponds are grown in rice by people.
(2) Ponds are grown rice in by people.
(3} Rice is grown in pondsg.
(4) Rice are grown in ponds.

146, Give me a glass of water.
(1) Water is given to me in a glass by you.
(2) A glass of water is given to me by you.
(3} Let water is given tome in a glass,

(4) Let a glass of water be given to me.

38
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- Directions : { Question No. 147 and 148 |} Mark the correct m-nnin;
of the idioms from the alternatives given below :

' 147.To be at one's wit's end

(1) to be overjoyed

(2} tobe envious

(3) 1o be perplexed

(4) tobeina commanding position

148, To bear the brunt of
" (1§ to pull somebody's leg
(2} to endure the main force
(3) to pulverize the enemy
(4) to rescue the worst sufferers

Directions : { Question No. 149 and 180 ) Choose the ¢orrect
mtam in each group.

149.{1] ‘Do you know to swim ?
(2) Do you kndw swimming ?
{3) Do you know how to swim ?

{4) Do you know how will you swim ?

180.{1) He has given his examination.
(2) He has taken his examination.
(3) He has sat at his examination.
{#) , He has sat in his examination.

39
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SECTION -V
@ vE- v
(Hindl Language)

(==Y W)
(For the Candidate opting for Hindl Language}

(=l s gt Profebdr 2 fard)

IS1L. A9 fFFrg s F ATy B 7
(1) gy ' (2) STV
{3) TF=TET Sy {4) T AT

152, % @it & Taq $Hifm

(1) Sheprferor (2) IAiEnTr

(3) sienfiErmTor (4) et
153, &9 @ 977 = 7@ e 7

(1) et (2) 3TRTST (3) 997 (4) TR
154, gift g g @ ofy P R ?

(1) T=ardy (2) afrrE

(3} H=grdt (4) aTE
188. Wl wiu-freda B |

(1) 98 + =edf (2) afer + et

(3] 9T + gowreff | (4) Them + ayeft

40
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!

156, ‘O’ & Wt w@fy-fa=w ¥ -
(1) ¥+ Y (2) |fer + ST
(3) 5 + G (4) S + IR

187. ‘=" 5 fAcfarts a9 3 e &g oot B w7
(1) 99 (2) iy {3} o1 (4} =

158, %8 qrsc 3 ‘Srar W9g @ 99rT JAT R ¢
(1) (2 Rmar (3) 9&=Tar (4) waTar

159.@%%%&@@@##%?

(1) FaT (2) GoraEx

(3) g . (4) gu=
160, ‘WFRI-TFR’ § T AW 8§ 7

(1) Jgsife (2) &8

(3) FHUTT (4) ST

161. =98 § o7 doaw wx TETE 7
(1) 3 (2) 9 (3) ¥ {4) TE

162, ‘TEHET hEr gas & ?
(1) agHE (2) aedH
(3) ZarA (4) =GR

a1 - PO,
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163. 374 q yfesin = F9 B 7

(1] HHE (2) FuEwr  (3) SEEHET

164, ‘Sf F ST 515 B ¢
{1y fagslt (2) =Hfafeht (3} =afeEh

168, ‘Hephy = BT ¥ .

(1) dgepa (2} Hegarrss

{3) " (4) QiEpicrD
166. T+F A R s S 2 7

(1} &g (2} 9Xg (3) =
167. T8 @ §=9 T o g7 ¥ -

(1) o, 9T 2w a, T

3 & fom (4) |

168. By =1 qoigardt 2 . ‘
(1) WE=HT 2 fFamrt = (3) e

169. 37 & A ‘o7 1 qataarh TR ?
(1) 3w (2) TTIH (3) A%

170, ‘o er’ &y e ¥
(1} &= (2) T~ (3) H= Y

42
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(4) ™=

(4) &Y



14U/ 101/ 194ii)

171. ‘B o ey & -

(1) B¥= (2) =y 3) g (4) He

172, PafYea orafy ¥ oo w fie® OX A9 A O U= F g T 7
(1) uferde= (2)
(3) 9fa= (4) ISR

173. SRRAETEF PRI & w9 § R @ S 97 97 9K 23 @
w7 |
(1) A=t (2) 9= (3) wETEATRY (4) wETE=

174, SN FIIH B ATHE & 8, 99w A ?
(1) arfera (2) Ay (3) iR (4) sfvaf

178. T99 } S A R ? |
1) HEEH (2) FTE O REELICH [4) EEw

176. T § u=g o i B - ‘
(1) ey (2) T (3) TG (4) T

177, ‘“ARa-ar’ frae | 7
(1) =i sreh (2) g=aT Al
3y M. (4) TR A

43 : P.T.O.
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178. ‘ﬂfﬁaﬁﬁﬁr’ﬁ?ﬂiﬁrﬁé’rﬂj%?

(1) T : VIREL NG
(3) SR . (4) Brard =gy
179, I8 } =owd gaE fEAd A gfa B o
(1) ot @ TR (2) ATTSEE W ST
(3] wH T W ST (4) T STToTERYT

180. = wifeey &1 =g fFE wer omar & 7
(1) rgf~E (2) i
(3) oW E (4) wferRTepeT

5 27000
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ROUGH WORK
% wred
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ROUGH WORK
F &
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ROUGH WORK
™ wd

47 R £ o



10.

12
13

4

sreaféay & fern Fde

(¥ gFAET & TaT AU g UT a7 IAT-W & A gl 0
#oer Hef- we - gz dw @ At foel)

Tve gt e & 10 firz & v @ 2w @ fF wyAm § wdt 7o g ¥ ok w
mwaﬁitgﬁamwwaﬁmm@wamﬁm-maﬁmm
TyAwE & gElt qfEw E &l
i WAty iy sdw-ux & A, e W AR iR RGeS 6
¥ 7 @
Jwe-on Fepr @ ey er ) g0 3 0t A AR T O A &1 RO IT- 99 341 (G AR
& IWT-UF 7§ ST (e wEi
maﬁmwm—wmmﬁmm-wﬂ&aﬁﬁuﬁawm%@
Fuv-ax & g% g a7 07 A F A Fafi we o e wey 6 B9 g w6
e w3 oyl wat aravas g wet V- QIRTST WY peaie ¥4 BT W7 T I ww
v el ' :
e WWe HTTo U W ITEAIE HoNT, TYTYRENT WoNT ¥ ¥ wew (W Y ¥ a9
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